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(a) The difference between groundwater and overlap is 16 km3/year, which is estimated to be distributed as follows over the different basins:  NOA-Cuya 6; Pampeana-Litroal 4.2;
Puelche aquifer 5.7; Guarani aquifer 0.03.
(b) FROM: Uruguay: 0 (Negro); Paraguay: 73.27 (Paraguay R.)+52.31 (Parana/Rio de la Plata [border- PRY/ARG]); Chile: 3.15 (Gallegos); Brazil: 51.05 (Iguazu/Iguaçu)+326.4
(Parana/Rio de la Plata)+130/2 (Uruguay R. [border- ARG/URY]); Bolivia (Plurinational State of): 10.1 (Bermejo)+5.92/2 (Pilcomayo [border- ARG/PRY])
(c) Pilcomayo, coming from the Plurinational State of Bolivia and being the border between Argentina and Paraguay: total 5.92, accounted for 5.92/2=2.96. Uruguay river is border
between Argentina and Brazil and then Argentina and Uruguay; Total flow 150, but 20 is considered to be sheet flow contribution by Argentina itself, which thus is removed. Total:
5.92/2+130/2=67.96.
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Computation of long-term annual renewable water resources (RWR) by country (in km³/year, average)
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